24

SR

ffz¢ (K01)

J— E?" BB Pea
TH4 | R7EL BMMmE B - WG B ANE TE FHENX Sy TE TR - SR
THXSy ERWR
THX Sy - AR - R - A Bikk HAL Gl e (4E) KR LES
ERW R
= 1
BT
= 1
$EH) T
= 1
Eitell TE W, WA RRRLIS O
), i T/ NHLBE (REHELLAY)
m3 19
B AL T
= 1
BRI 30151 TR CEE AR Y 5T
m3 25
7RGy
m3 25
HekHgEY T
= 1
(=N
= 1
PRAE D SRR R
m3 22
HERL TEX Sy b,
m3 18
- e U




=g 2 N = I/
TEHERiER (K01)
TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FER Sy TH TR -
TR X5y TERW R
TEX Sy « TfE - FEY - 4051 JRKE BT g (RifED) HE (5E) R T
HIHET
Y 1
7" Vi A NURUATE U A% 1 B300*%H400
[4-1 53U ]
m 14
7" Vi A ORI UBUAAIEFRAS - B300+H400
[4-25- U ]
m 6
TREE FEFEHE  C1-B300
[4-15U# ]
e 24
M EEFEAE SRS T-6 (JEIES00)
[4-1 3V ]
e 2
M EEFEAE SRS T-6 (JEIE300)
[4-25- U ]
K 6
=V 1
ta—hE BIGE) EIHRE HMTE LT
[15EE]
m 6
okt T
= 1
BUGHT B SE K - AT RS : BUGFTHS, 2v))-
(1547 EH] MEFE 1 18-8-40 (B 4F) , ETHIME AR IE
L AT 2
#* LEFESE AL 5 T-25 (BT 300%500)
(157 EH]
e 2
g TS I




=g 2 N = I/
T EMRRER (A01)
TH4 | R7&HT BMMmER  FEE - FREEG 3208 TH FHEX Sy TE TR - S
THEX5 ERGE
THEX 5y - TFE - FER - A5 HikS BN e (|l Heg (4mED) B e
R EHEK T
= 1
LA 277 - MM - 18-8-40 (B 4F)
m 18
HRHGEBE ST ny) 77y ) Bk BFE (W HR)
[—AfxEs]
m 12
SRHIERE R 0y ) 7y ) JKE BRE (ER 5 A M)
[ B 3 A ]
m 6
HRHGEBES T ny) 77 my ) Bk BFE (W HIR)
[ Itk )
m 2
HEmREL
= 1
s EE L T
= 1
/) ) - MEEEE L MEEW) X 5y HERT R &), TIEX Sy
RfE 1
m3 15
SRR G EEERRRIRN 7 A7 7V MEEERR, T A7 7 M
FERRE  15emPL T
m 44
A LERR AR A EREERRARR 7 A7 7V MEEERR, SRR
:bem
m2 73
TR AL T
= 1

=

N
Zim




4
>\d~3\l¢
£
Zz)_
o
Rt
7t
-
=

1

TH4 | R7EL BMMmE B - WG B ANE TE FHENX Sy TE TR - SR
THXSy ERWR
THX Sy - AR - R - A Bikk HAL Gl e (4E) KR e

FRTE AR 2 ) ) - Mgk (BEAT)
m3 15

s I RFER T AT 7V ik
m3 4

ALY pig GIREMRIY-3€. 5 1)
m3 15

gl BRI T AT 7 Nk
m3 4

ALy AR R TR
m3 0.05

LG an
= 1
AZIHAE BT

= 1

S IE SR A A
AR 20

S IE SR A B
AH 20

(e
= 1
CEE

= 1
-4 - T I




i
i
=

1

TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FER Sy TH TR - o
THEX5y sk
TEX Sy « TfE - FEY - 4051 FS BT g (FilEl) & (4mE) B T
7277 Mg
[ B3E1E (B EHE]
Y 1
T AR (HE - ) PEARATEAE : B AR 79 vv 7Y RC-40, 11
EYE:100mm
m2 10
- R (R - SR ) PEARA TR P AL RS IR RM-3
0, {1 v JE:100mm
m2 10
b s (S - R ) AR - ARV 22 ELEEES (40
), A1V JE:90mm
m2 10
g (FE - B ) PRS- A HURIEE T2y (20) , Bl
JE:50mm, R B 1. 4mA (18 Y
D S D E50mmEL T) m2 10
=8 (B - BE ) MOEVRESE : BB BRI T A2y (13), &%t
JE 1 50mm, “PEAI0E S 1. 4mAR (1 24
Y SE¥AE D E50mmEL T) m2 10
TA7 7V ME%E T
[HRaEEfEE (—aEs) ]
=V 1
B (BE ) PEARATEAE : B ARV 79 vv 7Y RC-40, 11
EYE:100mm
m2 38
=)@ EE) MOEVRESE : BB BRI T A2 (13), &%t
J=:30mm, SRR E 1. 4mbd 1
m2 38
TA7 7V ME%E T
ESEE G AR YN
=V 1
B (BE ) PEARATEAE : B AR 79 vv Ty RC-40, 11
EYE:100mm
m2 16
_ 5 — %l:m%/a\




i
i
=

1

TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FEXy TH TR - o
THEXS Al
TEX 5y - THE - fER] - 5] Hikg <X{va e (iffED) e (AED) Frm R
@ (BHEER) MEMEIE : AR RIE T 22y (13), &2t
JE:50mm, R E 1. 4mPh F
m2 16
TAT 7 v Mg T
[ B (R Eh%E ]
= 1
B (BAE ) AR AIRE  F R 79y 4Ty RC-40, {1
EYE:100mm
m2 92
@ (BHEER) MEMEIE : AR RIE T 22y (13), &2t
JE:50mm, R E 1. 4mPh F
m2 92
X TR 1
= 1
X 1
= 1
T il X R M TR R 5y TR, Bk -
FEIX 4y 1 EHE 15em, ¥R JE /2 1. bmm,
BEACHES 2 e L m 20
RN X
= 1
ARG
= 1
mfx e (FikE)
= 1
Wi T
= 1
-6 - %l:m%/a\




TR ERARZR (AR01)
TH4 | R7EL WBMmER - Fgpa  3A5E T FEXS T BT - LB
THXS iR
THXSy - THE - R - M) Bk HNT Gl R (4[E) KR S

B E P

= 1
Tl

= 1
— il PR

= 1
Tt

= 1
T AR e OVl 5 3 2 B

= 1
THA G

= 1

=
N
Jjm



THEERIE R (R02)
TH4 | R7HT WBMMER B - FgEBa B ANE T HEX T BT - LB
THEXy HEKGR
THXSy - THE - R - M) Bikk HLAZ Gl R (4[E) KR e
HEKGR
= 1
BT
= 1
PEH T
= 1
Eitell TE W, WA RRRLIS O
HE) , it A R AR (R MR LASL)
m3 24
FEARRE T
= 1
&+ M L& 2. 5mATi
m3 29
AR T
= 1
S TE R GRS EARY BET)
m3 30
b5 e Y UGN
m3 30
HERE 1
= 1
ST FTHERE 1. (RE W HLOT)
= 1

=N

N
Zim




1

T
g

24

ez (A02)

<

TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FEXy TH TR -
THEXS5 TERW R
TEX 5y - THE - fER] - 5] Hikg <X{va e (FimE) e (AED) Frm R
7 A BERE PERESEY 8 K00, Tm, AR ) - A%
[4-5-UBHAIRE: (FERREED) ] :18-8-40 (&47)
m 18
VA
= 1
7" VR ANV =} L
= 1
7" VY AME 9 ) A PR 1m, PN Im
m 2
kT
(EBR 1
HEkH§EY T
= 1
¥+ T
= 1
RYE Y B b
m3 75
HREL TRy 0, 5w
m3 55
R T
= 1
ta-hE (BIZAE) (ESTN- ST INER A b
[15%E]
m 9
_ 9 — %l:m%/a\




T3

T
g

=N
=R

TafhEE (N02)

TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FER Sy TH TR -
TR X5y TERW R
TEX Sy « TfE - FEY - 4051 FS BT g (FilEl) & (4mE) B T
LK vk T
Y 1
BUGFT B AT IR LK - BT : BUS T, 20 )) -
(150 ] MEFE18-8-40 (FidF) , VL HTEHEAM E
L AT 3
BT H K LKk - BRI : BUS TR, 20 )) -
[75-HEkt] MEFE 1 18-8-40 (B 4F) , EIHIVE XA IE
L &AT 1
ES SRR SRELEET-25 (BEUX300%500)
[15-H7 ]
e 3
* SEFIHE  SHAUEET-6 (BE7R800%1600)
[75HEk#t]
e 1
LiATFT K T
= 1
BUGFT K 29 ) = A& 1 18-8-40 (E A7)
[ 15U ]
m 39
B FT K a9 )~ A& 1 18-8-40 (EHF)
[4-B-UBEIEE (AIET) ]
m 18
TR 2EFE¥H  C1-B300
[ 15U ]
% 70
NS SR AL T-6 (JEE300)
[ 15U ]
e 5
R 25 SRR B T-25 (FEIE300)
[ 15 UR# )
e 4
- 10 - 77 e I,




T3

T
g

=N
=R

TafhEE (N02)

TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FEXy TH TR -
THERXS TERW R
TFX gy « TRE - FER - FmB1 FS <X{va e (iffED) & (4mE) B R
TREE FEFEHE  C1-B300
[4 5 U]
e 33
TR R - S EET-6 (IEIE300)
[4-5UUR1# )
e 1
HmmHEK T
= 1
LA a9 ) = HA& 1 18-8-40 (E A7)
m 26
HREEE STy 7y ) #AE  BFE (M ER)
[—#5as]
m 16
HREEEE STy 77y ) Bk BRE (BE BT
[#E8) ]
m 10
HREGEEE R ) 7" ny ) K BRE (W & R)
(B ]
m 2
B BEAE FRANEACE B - — 58 (T R)
[—#5a8]
m 25
B BEAE FRAHEACE HURE - HE 3 AH (AT R)
[ =i e A ]
m 4
BARHEAKE BEARBE A HRLRS « Bl 3 AR (7l
[ =7 3 ABR A [fR)
m 2
B BPEAE FRANBEACE B - faa 56 (T HER)
[fxAE]
m 0.6
- 11 - %u%/ax




=g 2 N = I/
THEEERTER (K02)
TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FEXy TH TR -
THERXS TERW R
TFX gy « TRE - FER - FmB1 FS <X{va e (FimE) & (4mE) B R
i g
= 1
EELT
2V 1
%+ i THE B 2 2. SmASTs
m3 5
PRYE V) T A
m3 40
HWEREL +E XSy b, B
m3 23
g
= 1
B s e
[Z=400]
m 14.9
I R
(1]
m 16.1
EBIHT
= 1
BUGFT K 29 ) = A& 1 18-8-40 (E4F)
[#51RK%]
m 2
SR E T
= 1
- 12 - %u%/ax




1

4
>\d~3§
il
=P
S

TH4 | R7&HT BMMmER  FEE - FREEG 3208 TH FHEX Sy TE TR - S
THEX5 ERGE
THEX 5y - TFE - FER - A5 HikS BN o (RiED Heg (4mED) B e
s BE L T
= 1
/) ) - MEEEE L WEEW) X 5y HERT R &), TIEX Sy
RfE 1
m3 18
SRR G EEERRRIRN 7 A7 7V MEEERR, T A7 7 M
FERRE  15emPL T
m 65
AR O ElEERRRERN 2V )Y - MEERR, 27 ) - M
FERRE  15emPL T
m 21
EhAE AR AR EEERRRIRN 727 7V MEREERR, Sl RS
them
m2 31
TEHRALEE T
= 1
O AR 2y - bk (IEAR)
m3 18
EE FRAER 7 AT 7 ik
m3 2
By BRI a7 - Mk ()
m3 18
BRLSy TR T AT 7 Nk
m3 2
LGy AR - FEERF e
m3 0.14

-1

37

=
N
Jjm



1

4
>\d~3\l¢
£
Zz)_
o
Rt
7t
-
N

TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FEXy TH TR -
THERXS TERW R
TFX gy « TRE - FER - FmB1 Hikg <X{va e (FimE) & (4mE) B R
IE% T
= 1
RIEEET.
= 1
ARIEH G B A
A H 60
AR EEAE B B
NH 60
iES
= 1
BiLET
= 1
TAT 7 M T
[HEE B EEE]
= 1
T AR (HE - ) AR AR F R 79V 4Ty RC-40, {1
EYE:100mm
m2 20
b e (B - B TE ) AR - AR R RM-3
0, {1 =Y E:100mm
m2 20
b s (R - R ) AR TN - ARV 22 E ALERAT (40
), A1V JE:90mm
m2 20
g (B - B ) MM AR T Ry (20) , S
JE50mm, MRS 1 1. AmA T (18 Y
D S E D JE50mmEL ) m2 20

- 14

=

N
Zim




i
i
=

1

TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FEXy TH TR - o
THEXS GES
TEX 5y - THE - fER] - 5] Hikg <X{va e (iffED) e (AED) Frm R
R (HaE - BEE) MEHMEIE : AR RIE T 22y (13), &hdE
JE 1 50mm, “EAJ0E S 1. 4mAR (1 24
D S D JE50mmEL ) m2 20
TAT 7 e
[HiEE ﬁ“ &) 1
= 1
B (BAE ) AR AIRE  F R 79y 4Ty RC-40, {1
EYE:100mm
m2 131
@ (BHEER) MEMEIE : AR RIE T 22y (13), &2t
JE 0 30mm, R E 1. 4mPh F
m2 131
TAT 7 e
[ZiEE ﬁ“(ﬁﬁﬁ%ﬂ*ﬁ)]
= 1
B (BB ) AR AIRE  F R 79V 47y RC-40, {1
EYE:100mm
m2 11
@ (BHEER) MEHEIE : AR RIE T 22y (13), &t
JE:50mm, RS 1. 4mlh F
m2 11
TAT 7V Mg T
QiREEHEE)
= 1
B (BE ) SRR R BT B R M-30, 1
Y= :100mm
m2 16
@ (BHEER) MEHMEIE AR RIE T 22y (13), &2t
JE:50mm, R S 1. 4nlh F
m2 16
TAT 7 v Mg T
[ A () ]
= 1
- 15 77 e I,




i
i
=

1

TH4 | R7HFL wBMmmsr [ - FgERsaG Ad0E TEF FEXy TH TR - o
THEXS Al
TEX 5y - THE - fER] - 5] Hikg <X{va e (iffED) e (AED) Frm R
B (BB ER) AR R b IR M-30, £
EVYJE:100mm
m2 31
=)@ EE) PR P AR RLET A2y (13), &lidE
J= 1 50mm, LR E 1. 4nlh |
m2 31
ay))-MfZE T
[ B (R &L ]
= 1
B (BB ER) BEARATELE TR 79 vy Ty RC-40, 1
Y JE:150mm
m2 11
= V)Y~ 1 18-8-40 ()
m2 11
X Ej R L
= 1
X iR T
= 1
Ta = X R it TR Sy VR mh T Eh, Bk - 1
B Ay FZHR 15em, B2 )£ 1. bmm,
BEACHES 2 e L m 53
Ta = X R it TR Sy VR mh T Eh, Bk - 1
KEX Sy AokR 30cm, B3AA= /5 1. 5mm,
HEAKMER S L m 3
[ERERIE - ¢
= 1
ARG
= 1
- 16 77 e I,




1

=
=4

T

-

i

=,
Hj

o2

TafhEE (N02)

TH4 | R7EHL GMMEE B - Bk R FHXSy E BT - SR
THEXs (e
THXSy - THE - R - M) Bk HLAZ Gl R (4[E) KR e
Him e (Fi L)
= 1
ol T
= 1
Bl
= 1
T
= 1
— M A
= 1
TS
= 1
T B4R B OVl 5 3 2 B4
= 1
THA G
= 1
- 17 s U




